<op/p. > (%)

o
[N

<3 @> (rad)
<)
o [
)

.............

...............

.........

...............

...............

- AP R

] RN IRt (1 G5 1 & B chRR REEELE
0.5 ------ Beeeeeen i R 0
-3 -2 -1 0 1 2 3

TP n (PCA

to beamline)

o
[N

< d cot(B) >
o
[
[6)]

o
i

...............

...............

S

1 2 3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom

.....

.....

.....

.............

.............

.............

..............

...............

...............

(k=]

-1 0 1
TP n (PCA

2 3
to beamline)

..........

..........

..........

-1 0 1

2 3

TP n (PCA to beamline)

—~ 100
80F

> (um

............

............

............

|
w

AR
AR
111 L
A PO Y Y PO P PR
3|11
0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


